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BZAL T} 11,326,807 13,325,818 A 1,999,011
z 4,963,000 4,963,000 0
p] 0 25,000 A25,000
= 2,030,000 2,030,000 0
Al 4,333,807 6,307,818 A1,974,011
2Ol =E L B 11,268, 195 13,267,295 A1,999, 100
2 4,963,000 4,963,000 0
y] 0 25,000 A25,000
= 2,030,000 2,030,000 0
Al 4,275,195 6,249,295 A 1,974,100
pN Rl 1,185,521 1,234,621 A49,100
p 0 25,000 A25,000
= 30,000 30,000 0
Al 1,155,521 1,179,621 A 24,100
ysotEs 2 721,010 720,710 300
101 1244 14,821 14,521 300
04 JIZH 2RSS 14,821 14,521 300
OS24 29 JAHIRK ALY 14,821 14,521 300
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E 22 85,968 85,368 600
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LT BBHYN =4 996,000 1,446,000 A450,000
z 963,000 963,000 0
Al 33,000 483,000 A 450,000
401 Al Bl 2 CHYI 996,000 1,446,000 A 450,000
= 963,000 963,000 0
Al 33,000 483,000 A 450,000
01 A& HI 990,794 1,440,794 A 450,000
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Al 0 500,000 A500,000
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OOROIEE A2 Al
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Al 0 496,400 A 496,400
03 A€ = 01| 0 3,600 A 3,600
OOROIEE A2 Al 3 0 0 3,600 3,600
Hees(22Arg D) 89 0 89
BHXE 89 0 89
SEITA T 89 0 89
802 Etet=J|EF 89 0 89
NEREE=TEE 89 0 89
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ghet 45,000 45 0 45
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Ol A+ Bt 44,0003 44 0 44




